College Algebra Exam 2 Forms A, B
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COLLEGE ALGEBRA EXAM 2 A R

SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER.
CALCULATORS ARE PERMITTED ON THIS TEST.

TURN IN ALL WORKEHEETS.

NAME

Circle answers.

Given the points (-4, 3) and (2, -1), find:
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1.
a) slope b) distance ¢) midpoint
ea)
2. Find the equation (in 3. Given the graph of Y = | X |
jénoﬂwémyaéorm) of a line . -+
passing through (-4, 6) IENENESER
that is perpendicular to 1 T
3X - SY = 10.
10,0
3) :
a) Y=|x+3]|] b)) v=-]x]|+4
!
T+
T T T

4. Find the vertex by completing
the square. Sketch the graph.

X = 2Y* - 12Y - 5§
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5. Find the center and radius by
completing the square. &Sketch.

X} +# Y} - 8X + 10Y + 32 =0
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_ 3X -4 _ 33X -4
6. Let f(Xx) = T'—z— 7. Let £f(x) = T and glx) = X? - 4x

a) f(-3) = o a) find flg(X)] b) find g{f(X)]

3%) b) f(-2)

c) f(5X-7) =

8. Find the domain (give interval notation when appropriate):

X-4 X-6
Y= b - z Y= x? - y= -2-6
a) x2+3x- 10 ) Y=yXx*-16 c¢) 4 d) T

/ .
\Sea.\
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9. Given 4Y = XY + 12 10. Given: — NI
. 03\
T 93 -
a) Domain: a) Domain: T l:*‘ e
Tl
Ho>
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ea BETER O
b) Range: b) Range:
c) Function? c) Function?
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11. Show by finding f[f"(x)] only that f and f! are inverses.

=X"4 -1 - 4
£(X) % and (X)) T %

)

12. Given £(X) = i“%;{—‘ , find £1(X).

(7)
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COLLEGE ALGELLRA £ XA 2_8 Name

Shno all wrek on Kis test o om se,oam{e A,

Calenlators are /Mrm/-éé’-/ bt ﬂof‘ N}-«-«Nﬂ[
ToRN N ALL woRKSHeeTS |

I. Given (-6,5) (2,-3)
a) Dc';’é:m .

(Simplast mdic.f Rem !)

: sl =

N

> Midpaint =

3. Gireg ‘3-‘-":'.( \py

NGl 4= xsl D= -lxl+z

SE COM/J/C‘IEC "%1 5“)—4«1 Q. % —G

2.

(8)

|
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X

Find a eg«.«fm -@//‘35-
Ime /041'3147 ﬁmﬁ’i (‘$ 5)
,uf,oenclaanﬁf 1Y IX+4y= -2,

4 ( /e-&'ééf
4% -FmJ o we».-ée—x

4= —x"ax+t2

4 &)
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6. Find e egecatiom
'&)ﬂ c:rc/e Cos / Ce’,nZ/y-

at (2,-3) ot passes

thengh (5,4
(2)



7. F;‘/Ia/ % O/ama/'y;
a_) (th - 4"2{
xE2x-3 .

2&54) 4 = XZ—ZX—-B

<) = \/Xz—zx—j

en
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(‘4) a) Dmain :

4) O Range .
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X+3 £
I If fod= ) 4 :jj
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c . ExAm 2B 5/ =7 m
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4. 4=-x=4x+2
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6= —
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Dr. Robert J. Rapalje

More FREE help available from my website at www.mathinlivingcolor{.com

ANSWERS TO ALL EXERCISES ARE INCLUDED AT THE END OF THIS PRE





